
Clue
Substitute the corresponding numbers into the variables.

Clue
Substitute 1 and 2 into p and r respectively and sod solve for r.

Clue
A piece of cake.

Clue
A straight forward item. No trick what so ever.

Clue
No clue. Another piece of fruit cake.



Clue
Basic stuff.

Clue
c is a variable, so two possible (plus and minus)solutions. 

Clue
move b-2c to the left, expand and simplify.

Clue
Too easy

Clue
L.H.S. can be expressed as a/(a-1)



Clue
Seperate the variables by moving all y's to the right.

Clue
t=(x-1)/2.Substitute into y=3t-2.

Clue
Form the first equation, t=x/2a. Carry on from there.

Clue
Remove the square by taking square root. Don't forget + and - sign.

Clue
Leave the square root on the right, then square both sides of the equation.



Clue
Squaring both sides.

Clue
Move the xz power 3 term to the left, take common factor x.
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